Solve these word problems. Show your working out each time.
1. The elves had filled the sleigh with 20 presents. 8 of them tumbled off. How many were left on the sleigh?
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[image: image3.wmf][image: image4.wmf]2. A box holds 4 Christmas baubles. How many baubles do 3 boxes hold?

3. Father Christmas received 9 letters on Monday, 4 letters on Tuesday and 6 letters on Wednesday. How many did he receive altogether?

4. Sally, Ben, Peter and Jessica were waiting for their presents. There were 16 altogether. How many did they each get?
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